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Name Date Class

Operations and Properties

4 Puzzles, Twisters & Teasers: Are You in Order?
What did one telephone say to the other when it proposed?

To answer the riddle, solve the following problems. Then write
the letter that is represented by each answer in the blanks

below.
1.20+16x 2= (1 2.55+(11-6)x8= (W)
3.4+9-(2+6)+3= (L) 4. (24 +12)+12= (G)
5.(4+6+2)x(1+9)= (V) 6. 10 x (54 — 49) + 17 = (E)
7. (36 +18°+17 x3= Y) 8. 2°+(81-50)+52= (0)
9. 21+ (2+1)x5-2= ) 10. 6+ (1+2)x52-25= (A)
11.32x(3+2)+8+2= (R) 12. 6°+3)+8+2= (N)

I

88 52 8 8
3 52 70 67 59 99 31
25 164 52 76 3
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